

Inverse Image and Image of Upper and Lower (α, β) -Fuzzy Set

M. Asghari-Larimi

Department of Mathematics
Golestan University, Gorgan, Iran
asghari2004@yahoo.com

Abstract

Using the notion of "belongingness (\in)" and "quasi-coincidence (q)" of fuzzy points with fuzzy sets. We introduce the concept of inverse image and image of upper and lower of an (α, β) -fuzzy set, where α and β will denote any one of $\in, q, \in \vee q$ or $\in \wedge q$ with $\alpha \neq \in \wedge q$, and some interesting properties are investigated.

Mathematics Subject Classification: 03E72

Keywords: Fuzzy set, Inverse Image, Image, Upper and Lower (α, β) -Fuzzy Set, Sup property

1 Introduction

The concept of a fuzzy set in a non-empty set was introduced by Zadeh [12] in 1965. Since then, many papers on fuzzy sets appeared showing the importance of the concept and its applications (see, for example, [1, 8, 10]).

The idea of quasi-coincidence of a fuzzy point with a fuzzy set, which is mentioned in [9], played a vital role to generate some different types of fuzzy subgroups. Bhakat and Das [3, 4] gave the concepts of (α, β) -fuzzy subgroups by using the notion of "belongingness (\in)" and "quasi-coincidence (q)" between a fuzzy point and a fuzzy subgroup, where α, β are any two of $\{\in, q, \in \vee q, \in \wedge q\}$ with $\alpha \neq \in \wedge q$, and introduced the concept of an $(\in, \in \vee q)$ -fuzzy subgroup. In [5] $(\in, \in \vee q)$ -fuzzy subrings and ideals defined. In [7] Jun and Song initiated the study of (α, β) -fuzzy interior ideals of a semigroup. In [2] Bhakat defined $(\in \vee q)$ -level subsets of a fuzzy set. In [10] Shabir, Jun et al. studied characterizations of regular semigroups by (α, β) -fuzzy ideals. In [11] Yuan, Li et al. redefined (α, β) -intuitionistic fuzzy subgroups. This paper continues this line of research.

2 Preliminaries

Let X be a non-empty set. A mapping $\mu : X \longrightarrow [0, 1]$ is called a *fuzzy set* in X . The *complement* of μ , denoted by μ^c , is the fuzzy set in X given by $\mu^c(x) = 1 - \mu(x)$ for all $x \in X$. Denote by $FS(X)$ the set of all fuzzy sets in X .

For any $t \in [0, 1]$ and fuzzy set μ of X , the set

$$U(\mu, t) = \{x \in X \mid \mu(x) \geq t\} \quad (\text{respectively, } L(\mu, t) = \{x \in X \mid \mu(x) \leq t\}),$$

is called an *upper* (respectively, *lower*) *t-level cut* of μ .

Definition 2.1. [8] Let f be a mapping from a set X into a set Y . Let μ be a fuzzy set in X and λ be a fuzzy set in Y . Then the *inverse image* $f^{-1}(\lambda)$ of λ is a fuzzy set in X defined by

$$f^{-1}(\lambda)(x) = \lambda(f(x)) \text{ for all } x \in X.$$

The *image* $f(\mu)$ of μ is the fuzzy set in Y defined by

$$f(\mu)(y) = \begin{cases} \sup_{x \in f^{-1}(y)} \mu(x) & \text{if } f^{-1}(y) \neq \emptyset, \\ 0 & \text{otherwise,} \end{cases}$$

for all $y \in Y$.

We have always $f(f^{-1}(\lambda)) \leq \lambda$ and $\mu \leq f^{-1}(f(\mu))$.

Definition 2.2. A fuzzy subset μ of a universe X is a function from X into the unit closed interval $[0, 1]$, i.e. $\mu : X \longrightarrow [0, 1]$ (see [12]). A fuzzy subset μ in a universe X of the form

$$\mu(y) = \begin{cases} t \in (0, 1] & \text{if } y = x \\ 0 & \text{if } y \neq x \end{cases}$$

is said to be a fuzzy point with support x and value t and is denoted by x_t . For a fuzzy point x_t and a fuzzy set μ in a set X , Pu and Liu [9] gave meaning to the symbol $x_t \alpha \mu$, where $\alpha \in \{\in, q, \in \vee q, \in \wedge q\}$. A fuzzy point x_t is said to belong to (resp. quasi-coincident with) a fuzzy set μ written $x_t \in \mu$ (resp. $x_t q \mu$) if $\mu(x) \geq t$ (resp. $\mu(x) + t > 1$), and in this case, $x_t \in \vee q \mu$ (resp. $x_t \in \wedge q \mu$) means that $x_t \in \mu$ or $x_t q \mu$ (resp. $x_t \in \mu$ and $x_t q \mu$).

In what follows, unless otherwise specified, α and β will denote any one of $\in, q, \in \vee q$ or $\in \wedge q$ with $\alpha \neq \in \wedge q$, which was introduced by Bhakat and Das [4]. To say that $x_t \bar{\alpha} \mu$ means that $x_t \alpha \mu$ does not hold.

3 Inverse Image and Image of Upper and Lower (α, β) -Fuzzy Set

Definition 3.1. [1] Let $t \in (0, 1]$ and μ is a fuzzy set in X . We defined $U(\alpha\mu, t) = \{x \in X \mid x_t\alpha\mu\}$, $L(\in \mu, t) = \{x \in X \mid \mu(x) \leq t\}$, $L(q\mu, t) = \{x \in X \mid \mu(x) + t \leq 1\}$, $L(\in \vee q\mu, t) = \{x \in X \mid \mu(x) + t \leq 1 \text{ or } \mu(x) \leq t\}$, where $\alpha \in \{\in, q, \in \vee q\}$. Then, (UL_1) the set $U(\in \mu, t)$ and $L(\in \mu, t)$ is called an *upper* and *lower t -level cut* of $\in \mu$, respectively, (UL_2) the set $U(q\mu, t)$ and $L(q\mu, t)$ is called an *upper* and *lower t -level cut* of $q\mu$, respectively, (UL_3) the set $U(\in \vee q\mu, t)$ and $L(\in \vee q\mu, t)$ is called an *upper* and *lower t -level cut* of $\in \vee q\mu$, respectively.

It is clear that $U(\in \mu, t) = U(\mu, t)$ and $L(\in \mu, t) = L(\mu, t)$.

Theorem 3.2. [1] Let $\mu \in FS(X)$. Then for all $x \in X$ and $t \in (0, 1]$, we have

- (1) $U(\in \vee q\mu, t) = U(\in \mu, t) \cup U(q\mu, t)$,
- (2) $L(\in \vee q\mu, t) = L(\in \mu, t) \cup L(q\mu, t)$.

Lemma 3.3. Let $\mu \in FS(X)$. Then for all $x \in X$ and $t \in (0, 1]$, we have

- (1) $x_t q\mu \iff x_t \overline{\in} \mu^c$;
- (2) $x_t \in \vee q\mu \iff x_t \overline{\in} \wedge q\mu^c$.

Proof.

- (1) Let $x \in X$ and $t \in (0, 1]$. Then, we have

$$\begin{aligned} x_t q\mu &\iff \mu(x) + t > 1 \\ &\iff 1 - \mu(x) < t \\ &\iff \mu^c(x) < t \\ &\iff x_t \overline{\in} \mu^c. \end{aligned}$$

- (2) Let $x \in X$ and $t \in (0, 1]$. Then, we have

$$\begin{aligned} x_t \in \vee q\mu &\iff x_t \in \mu \text{ or } x_t q\mu \\ &\iff \mu(x) \geq t \text{ or } \mu(x) + t > 1 \\ &\iff 1 - \mu^c(x) \geq t \text{ or } 1 - \mu^c(x) + t > 1 \\ &\iff x_t \overline{q}\mu^c \text{ or } x_t \overline{\in} \mu^c \\ &\iff x_t \overline{\in} \wedge q\mu^c. \end{aligned}$$

□

Definition 3.4. A fuzzy set μ in a set X is said to have sup property if for every non-empty subset S of X , there exists $x' \in S$ such that

$$\mu(x') = \sup_{x \in S} \{\mu(x)\}$$

Theorem 3.5. Let $\mu, \lambda \in IFS(X)$ and mapping f from X into Y be a surjection. Let μ and λ have sup property, then for all $t \in (0, 1]$ we have

$$(1) U(\alpha f(\mu), t) = f(U(\alpha \mu, t)),$$

$$(2) L(\alpha f(\lambda), t) \subseteq f(L(\alpha \lambda, t)),$$

where $\alpha \in \{\in, q, \in \vee q\}$.

Proof. (1) We only prove the case of $\alpha = q$. The others are analogous.

$$\begin{aligned} y \in U(qf(\mu), t) &\iff y_t qf(\mu) \\ &\iff f(\mu)(y) + t > 1 \\ &\iff \sup_{x \in f^{-1}(y)} \{\mu(x)\} + t > 1 \\ &\iff \exists x' \in f^{-1}(y), \mu(x') + t > 1 \\ &\iff f(x') = y, x'_t q\mu \\ &\iff f(x') = y, x' \in U(q\mu, t) \\ &\iff y \in f(U(q\mu, t)). \end{aligned}$$

(2) We only prove the case of $\alpha = \in \vee q$.

Let $y \in L(\in \vee qf(\lambda), t)$. Then, we have $f(\lambda)(y) \leq t$ or $f(\lambda)(y) + t \leq 1$. This shows that

$$\sup_{x \in f^{-1}(y)} \{\lambda(x)\} \leq t \text{ or } \sup_{x \in f^{-1}(y)} \{\lambda(x)\} + t \leq 1,$$

and so $\lambda(x) \leq t$ or $\lambda(x) + t \leq 1$ for all $x \in f^{-1}(y)$. This shows that

$$x \in L(\in \vee q\lambda, t) \text{ for all } x \in f^{-1}(y).$$

Therefore $y \in f(L(\in \vee q\lambda, t))$.

The other the cases can be proven analogously. □

Theorem 3.6. Let $\lambda \in FS(X)$ and mapping f from X into Y be a surjection. Let λ and λ^c has sup property, then

$$(1) U(\bar{q}f(\lambda), t) = L(qf(\lambda), t) \subseteq U(\in f(\lambda^c), t),$$

$$(2) U(\overline{\in}f(\lambda), t) \subseteq L(\in f(\lambda), t) \subseteq U(qf(\lambda^c), t) = L(\overline{q}f(\lambda^c), t),$$

$$(3) L(\overline{\in}f(\lambda), t) \subseteq U(\in f(\lambda), t),$$

for all $t \in (0, 1]$.

Proof. (1) Let $y \in L(qf(\lambda), t)$. Then $f(\lambda)(y) + t \leq 1$ and so $\sup_{x \in f^{-1}(y)} \{\lambda(x)\} + t \leq 1$, thus $\lambda(x) + t \leq 1$ for all $x \in f^{-1}(y)$. This shows that $\lambda^c(x) \geq t$ for all $x \in f^{-1}(y)$. Then $\sup_{x \in f^{-1}(y)} \{\lambda^c(x)\} \geq t$. Since λ^c has sup property, then $\exists x' \in f^{-1}(y)$, $\lambda^c(x') \geq t$, and so $f(x') = y$, $x'_t \in \lambda^c$. Therefore $y_t \in f(\lambda^c)$, thus $y \in U(\in f(\lambda^c), t)$. Hence, we have $L(qf(\lambda), t) \subseteq U(\in f(\lambda^c), t)$.

Also, $y \in L(qf(\lambda), t)$ if and only if $f(\lambda)(y) + t \leq 1$ if and only if $y \in U(\overline{q}f(\lambda), t)$. Thus $U(\overline{q}f(\lambda), t) = L(qf(\lambda), t)$.

The other the cases can be proven analogously..

□

Theorem 3.7. Let $\mu, \lambda \in FS(X)$ and mapping f from X into Y be a map. Then for all $t \in (0, 1]$ we have

$$(1) U(\alpha f^{-1}(\mu), t) = f^{-1}(U(\alpha\mu, t)),$$

$$(2) L(\beta f^{-1}(\lambda), t) = f^{-1}(L(\beta\lambda, t)),$$

where $\alpha \in \{\in, q\}$ and $\beta \in \{\in, q, \in \wedge q, \in \vee q\}$.

Proof. (1) Let $\alpha = q$. We have

$$\begin{aligned} x \in U(qf^{-1}(\mu), t) &\iff x_t q f^{-1}(\mu) \\ &\iff f^{-1}(\mu)(x) + t > 1 \\ &\iff \mu(f(x)) + t > 1 \\ &\iff f(x)_t q \mu \\ &\iff f(x) \in U(q\mu, t) \\ &\iff x \in f^{-1}(U(q\mu, t)). \end{aligned}$$

The other the cases of (1) can be proven analogously.

(2) Let $\beta = \in \vee q$. We have

$$\begin{aligned} x \in L(\in \vee q f^{-1}(\lambda), t) &\iff x \in L(\in f^{-1}(\lambda), t) \text{ or } x \in L(qf^{-1}(\lambda), t) \\ &\iff f^{-1}(\lambda)(x) \leq t \text{ or } f^{-1}(\lambda)(x) + t \leq 1 \\ &\iff \lambda(f(x)) \leq t \text{ or } \lambda(f(x)) + t \leq 1 \\ &\iff f(x) \in L(\in \lambda, t) \text{ or } f(x) \in L(q\lambda, t) \\ &\iff f(x) \in L(\in \vee q \lambda, t) \\ &\iff x \in f^{-1}(L(\in \vee q \lambda, t)). \end{aligned}$$

The other the cases of (2) can be proven analogously.

□

Theorem 3.8. Let $\mu, \lambda \in FS(X)$ and mapping f from X into Y be a map. Then for all $t \in (0, 1]$ we have

$$L(\in \vee qf^{-1}(\lambda), t) = f^{-1}(L(\in \lambda, t)) \cup f^{-1}(L(q\lambda, t)).$$

Proof. By the proof of Theorem 3.7, we have $x \in L(\in \vee qf^{-1}(\lambda), t)$ if and only if $x \in f^{-1}(L(\in \lambda, t))$ or $x \in f^{-1}(L(q\lambda, t))$ if and only if $x \in (f^{-1}(L(\in \lambda, t)) \cup f^{-1}(L(q\lambda, t)))$. \square

Theorem 3.9. Let $\mu, \lambda \in FS(X)$ and mapping f from X into Y be a map. Then for all $t \in (0, 1]$ we have

$$L(\in \wedge qf^{-1}(\lambda), t) = f^{-1}(L(\in \lambda, t)) \cap f^{-1}(L(q\lambda, t)).$$

Proof. The proof is similar to the proof of Theorem 3.8. \square

Theorem 3.10. Let $\lambda \in FS(X)$ and mapping f from X into Y be a map. Then

- (1) $U(\in f^{-1}(\lambda), t) = L(qf^{-1}(\lambda^c), t)$,
- (2) $U(qf^{-1}(\lambda), t) = L(\in f^{-1}(\lambda^c), t)$,

for all $t \in (0, 1]$.

Proof. (1) Let $x \in L(qf^{-1}(\lambda^c), t)$. Then, if and only if $f^{-1}(\lambda^c)(x) + t \leq 1$ if and only if $\lambda^c(f(x)) + t \leq 1$ if and only if $\lambda(f(x)) \geq t$ if and only if $f^{-1}(\lambda)(x) \geq t$ if and only if $x \in U(\in f^{-1}(\lambda), t)$. Hence, we have $U(\in f^{-1}(\lambda), t) = L(qf^{-1}(\lambda^c), t)$.

- (2) The proof is similar to the proof of (1). \square

Acknowledgements

The author is highly grateful to the referees for their constructive suggestions for improving the paper.

References

- [1] M. Asghari-Larimi, *Upper and Lower (α, β) - Intuitionistic Fuzzy Set.*(submitted)
- [2] S.K. Bhakat, *$(\in \vee q)$ -level subset*, Fuzzy Sets and Systems, 103 (1999) 529-533.

- [3] S. K. Bhakat, P. Das, *On the definition of a fuzzy subgroup*, Fuzzy Sets and Systems, 51 (1992) 235-241.
- [4] S. K. Bhakat, P. Das, *$(\in, \in \vee q)$ -fuzzy subgroups*, Fuzzy Sets and Systems, 80 (1996) 359-368.
- [5] S.K. Bhakat, P. Das, *Fuzzy subrings and ideals redefined*, Fuzzy Sets and Systems, 81 (1996) 383-393.
- [6] W.A. Dudek, M. Shabir, M. Irfan Ali, *(α, β) -fuzzy ideals of hemirings*, Comput. Math. Appl. 58 (2009) 310-321.
- [7] Y.B. Jun, S.Z. Song, *Generalized fuzzy interior ideals in semigroups*, Information Sciences, 176 (2006) 3079-3093.
- [8] J.N. Mordeson, K.R. Bhutani, A. Rosenfeld, *Fuzzy Group Theory*, World Scientific, Singapore, 2005.
- [9] P. M. Pu and Y. M. Liu, *Fuzzy topology I: Neighbourhood structure of a fuzzy point and Moore-Smith convergence*, J. Math. Anal. Appl., 76 (1980) 571-599.
- [10] M. Shabir, Y. B. Jun and Y. Nawaz, *Characterizations of regular semigroups by (α, β) -fuzzy ideals*, Computers and Mathematics with Applications, 59 (2010) 161-175.
- [11] X.H. Yuan, H.X. Li and E.S. Lee, *On the definition of the intuitionistic fuzzy subgroups*, Computers and Mathematics with Applications, 59 (2010) 3117-3129.
- [12] L.A. Zadeh, *Fuzzy Sets*, Inform and Control, 8 (1965) 338-353.

Received: October, 2011